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ct(screen, RED, [
t({screen, BLUE,
i.circle{screen, WH
redcolor
bluecolor = B

blackcolor =
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if event.key ==

by -= length

1if event.key =

by += length
deletel =

event.key == K_s:
K w and boll.colliderect(pl):

= K_s and boll.colliderect(pl):

aw.rect{screen, blackcolor, p1)

key = K wu:

yl =yl - 28

w.rect(screen, redcolor, [&, yl1, 26, 98])

if event.key

it event.

event.key ==

by += length
Deletelp
= Deletelp
p2
event. key

Y= =l

event.key
1d boll.colliderect(p2):

and boll.celliderect(p2):

.rect(screen, blackcolor, p2}
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deletelW = aw.rect(screen, blackcolor, pl)
e maa YZfS RHOp= oA L Ch
2 1‘ = HA = H IPYN=]
del p
draw.rect(screen, redcolor, [8, yl, 28, 98])
draw.rect(screen, redcolor, [®, yl1, 28, 98])
draw.rect(screen, blackcolor, p2)
iraw.rect(screen, bluecolor, [6208, y2, 28, 98])
draw.rect(screen, bluecolor, [628, y2, 28, 98])
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if boll.celliderect(pl): .
e, Colliderct2t

if boll.colliderect(p2): [E=—u| KOJKO; P pvE

=
| o) o] 52
bsd *~ -1 12 5ot B 2 SOF7HA| St &L Lt

L rr
2 ot




S MOSIEHIAE M ZE ME
text = font.render(f"{scorel] True, t _color) X-I = OE“ _'.__-I OI_-I O'_I- ﬁ:: _IJ_l- = _E —_|-|- © '_I
screen.blit(text, (30@, 100)) jé'.' T Ql'E Oﬂ El IJ{E L—l El’
scorel == 7 or score2 == 7.
screen.fill(blackcolor)
redcolor = BL 9 O MO o =
bluecolor = BLACK J—l- 230” Ol- Ll- -I I:IE I::El-ljl_:|
A e
end_text piWin = font.render("PLAYER 1 WIN", True, t_color) L‘r7H| EEIL-|[:f

screen.blit(end text piWin, (248,

else:
end text p3Win = font.render("PLAYER 2 WIN", True, t color)
screen.blit{end text p2Win, (248,




& pingpong - X & pingpong - X
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